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BUSINESS MATHEMATICS AND STATISTICS
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The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS
Q. No. 1 carries I mark each . 1x8 = 8
Q. No. 2 carries 2 marks each : 2x5= 10
Q. No. 3 carries 3 marks each . S B
Q. Nos. 4-10 carry 5 marks each : 5x7 = 35
Q. Nos. 11-14 carry 8 marks each : 8x4 = 32

Total = 100
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1. Answer the following as directed :
RHfReERR FoArER S we :
(@) lsmile =0T vards.
( Fill in the blank )
1SR = _ ol
( *FrR o <9 )
(b) Which is greater?

(¢

(@)

(e)

(9)
(h)

[147A

6LV eriN 7
A 0Tl 2
(G < 18 e | |7 o 17 4

Area of a rhombus is

( Fill in the blank )
(> TICW CFaFe 2 |

( XFUEH 4o 9 )
Write True or False :
O] A IPT9] (oY -
log, m =log, mxlog, b

What are the coordinates of the oﬁgin in coordinate

geometry?

A% EEfes 3 [m 2= 92

A sample survey is less expensive than a census survey.
( Write True or False )
Gt 2ol STl oo Sl “mfS Seerr 5 TR |
( 317 T SPT CE9 )
What do you mean by primary data?
A1 2 F@ICe F @[ 2

Define classification.
A paced Al @Y |

1x8=8

(3)

2. Answer the following questions : 2x5=10

A epesfem Teg we -

(@ If x:5:8=2:y:4, then find the value of x and y.
M x:5:8=2:y:4%W, OF@ x GR Yy 99 T 7 37 |

(b) Find the distance between the points (3, -5) and
(~24,'6).

B, —5) @R (-2, 6) R 7fba 7% ey 5 1

(c) Express 0-27 in the form P

q

0-27 & £ sirprea 2/t 9 |
q

(d) If the length and breadth of a rectangle are 4 cm and
6 cm respectively, then find its perimeter.
M G THSCHCH 7 4R A% IFE 4 cm R 6 cm =,
S SEecTaa IR e 9

(e) Simplify :
9] 9 ¢
xm+2n d x3m—8n

xSm—6n

3. Answer the following questions : a%5=15

fafeie epgeferm Teg WS :

(@) If x:y=23:2, then find the value of (4x -2y): (x +y).
I x:y=3:2 W, OF@ (dx —2y) : (x +y) 9 I 7 37 |
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Or / 9241

Divide ¥ 1,260 between A, Band Cin the ratio é : % .

3
1,260 5R1F A, B qR C &1 Y % : é : é—@ﬁvnt@ ) 9 |
(b) A table with marked price ¥ 1,600 is sold for ¥ 1,280,
after allowing a certain discount. Find the rate of

discount.

1,600 B e e @3 G =e (discount) fiw
1,280 Bl R 41 21 | =ieed =9 9T 9 |

(c) The base of an isosceles triangle is 12 m and its
perimeter is 32 m. Find its area.

G5 T frecem i 12 m @2 ARE 32 m. 7 et [y
39 |

(d) Solve (I F9) :
J5x-1-5=-x

(e) Prove that V2 is an irrational number.

ol T (A A2 3> ARG R4y |
Or / 9241

Solve (FT4I9 9) :

|5x| >3
4. Answer either (a) or (b) :

(a) WA (B) < B T :

(a) A bicycle seller allows 25% discount on marked price
and makes a profit of 20%. What was the marked price
of the bicycle on which he gains ¥ 30?
P AT @ B wiem Sega 25% =ee (discount)
F&m R e R ¢ 20% e FEez | RS T Ay 39
@A Al 30 TIPS FCACE |

/147A

5.

(S)

(b) Water flows from a pipe of 7 cm in diameter at the rate
of 1 litre per second. How many litres of water would
flow out per hour?

GFo 7 cm AR %A (AT 24 Eiges 1 FBivR o o«fze =1 |
GF IDR T 0H T 2[R 3T ?

Answer either (a) or (b) : 5
(@) 91 (b) @< TEF 7S :

(a) A man sells his TV at a loss of 10%. If he sells it for

¥ 1,500 more, he would have gained 5%. Find the cost
price of the TV.

g7 IfE 10% T R B.fs. ont RF e | 3ft o
f5.f8. 6l =e 1,500 5= @fice @bee “([eed, waee o 5%
e (ofeed | 6.3, oo e w ey 59 |

(b) The area of a circular garden is 22176 m?. How long

a man will take to go round it 10 times at a speed
of 2:2 km per hour?

36 JOFI AR CFaFet 27 22176 m2. afs 6w 2-2 A
el ASTHCE 10 AT 2% F300 95 Jeq F© 597 +5E 2

Discuss the scope of statistics in business and commerce. S5

PN-NCED “RERY R s Ry sicaw 399 |
Or / g1

What are the limitations of statistics?

oifeea Reeig SRmelsi Ft 19

If the point C(-4, 1) divides the line segment joining the
points A(2, —2) and B in the ratio 3 : 5, then find the
point B. - )
W C(-4,1) 4G 3:5 Teice A2, —2) ¢k B TSI @IS
fiee 1, ©@ B RT3 2=is fefa 91 1
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8. If Ya +Ib+Jc =0, then show that (@+b+c)d =27abc. S
% Ya +Ib+Jc =02, 9@ @218 @ (a+b+c)® =27abe.

9. The diameter of a garden roller which is 80 cm long is
1-40 m. If it takes 600 complete revolutions to level a
playground, find the cost of levelling the ground at
60 paise per square metre. 5
80 cm T ¢35 @R WA 1:40 m. I 9FH (TR TCeq T A
TS @R 60016 =5 e (qEICS 2w, ©ed 60 A afS fvw
e b A FI (6 <=5 Fef 39 |

Or / 9§41

Prove that log;y2 lies between %} and l

3

ﬁm"f?ﬁﬁﬁlOng,%&ﬁ‘{ é'—‘lﬁﬂtﬁ]%'

10. Discuss the merits of sampling over census method. 5
Foegel o1 “TalS SeesF e erafen Rl e 9 |
Or / g1

Discuss the different sources of collecting secondary data.

RS “rficia ©2 =g F99 RfSn Sevefem Rac Seew 39 |

11. (@) Evaluate : o,

el 9
J6+J6+,/6+ -+ tO o0

(b) Distinguish between questionnaire and schedule. 4

2P % PO Wek #f1ef<E el 59 1

/147A

(7))

Or / 341
Define the following :
FafiRegfm ke @9
() Hemisphere
TSR
(ii) Marked price
feifre 3=m
12. (a) Define the following : 2+2=4
fafReefem sie @9
(i) Sample and population
fomf §3 SPR

(i) Tabulation of data
YR IR

(b) Explain the different parts of a table. =k
«fb ST Rfea sixefer e 9 |

13. (a) Draw a percentage bar diagram to represent the
following data : S

g vl [t T T i o 9 Ba S 99

Items of expenditure Expenditure (in ¥)
BRI 3= (BT )
Food (21mi) 150
Clothing (I%7) 125
Rent (©N%0) 25
Light and fuel (Scen <33 ==ma) 10
Others (S111) 190
(b) What are the uses of diagrams and graphs? 3
foq @) b RSt 2
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14. Prepare a frequency distribution table from the following

data taking the class intervals as 21-30, 31-40, -+, etc. :

21, 20, 55, 49, 48, 46, 36, 54, 42, 30

29, 42, 32, 40, 34, 31, 35, 37, 52, 44

39, 45, 37, 338, 51, 58, 54, 46,443 47

41, 26,52, 48, 25, 34, 37, 33,.36,. 27

54, 36, 41, 33, 23, 39, 28,:4%,45;538
Also find (a) the frequency density of each "class and
(b) percentage frequency between 31-40. 4+2+2=8

Toa owsh T @I TaETel Rowm wifer gge 1 o
SaEesf 21-30, 31-40, --- 93 4F0H @A -

21, 20, 55, 49, 48, 46, 36, 54, 42, 30

29, 42, 32, 40, 34, 31, 35, 37, 52, 44

39, 45, 37, 33, 51, 53, 52, 46, 43, 47

41,96, 52 48.195:,.84., /87,3886y 27

54, 36, 41, 33, 23, 39, 28, 44, 45, 38
(@) =fef6 i IR g7y A4 39 9% (b) 31-40 ¥ Ty A

JRFEOR *oql RS e 99 |
Or / 941

Write a note on the main points involved in the
construction of frequency distribution tables. Also define
class interval and class limits.

RS ReoTem SRR 2ge F70e TR 298 I3 KPR TR @
B (514 | 93 AH G SR @33 I TR SRS WS |

* ok K
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